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: This paper contains ONE HUNDRED (100) multiple-choice ahd matching

questions, each question carrying TWO (2) marks. Attempt All the questions.

A 2 A ueeE W (100) agRsedy wadl, WY-WIG A Bssi etritadttl wil
8. dHd WAl FUs dvaiit 8. Uds w4 () @ B,
1. Iodine value measures the amount ' '“_Q’”’q"gl't ey’
(A) 06llui Agrd 38 AAlsd W
Of oo AN 69
(A) Saturated fatty acids in lipids (B) 32(’&‘“ 34 Afls wua Al
(B) Free fatty acids in lipids (©) a0l 2 34 AAlsqd wwum
- (C) Tr fatt ids in lipids A 8
ans fatty acids in lipi : . _— .
y P (D) AL vt $4 Hls e
(D) Unsaturated fatty acids in lipids TR
2. The time temperature combination 2. .. 2.4, WRHASIA it
of HTST pasteurization of 71°C for A XY (71°C A 15 As~5 Wi2) -
15 second is selected on the basis el :
Of i " . A) sidllan o142 ald si1 B
(A) Coxiella burnetii . .~ -
(B) E. coli B §. sius suaRld ¢l 8
(C) B. subtilis (©) ofl. yndlelu snela ¢y 8
(D) L. acidophylus D) 4, ﬂeﬂsﬁﬂa& End iy B
3. Corn-syrup is a mixture of : 3. sid A A
(A) Glucose and Fructose (A) sl ¥ g5l Bana 8
(B) Glucose and Lactose (B) °g45l» 1 Aselnd Dot &
(C) Lactose and Fructose (C) Asdly A gseind Blam &
(D) Fructose and Mannose D) g52» A Adindg Baw 8
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4,

The a,, (water activity) of food

D) 1—2 _
Match the following :
List I
(@) Bixin
(b) B-carotene
(¢) Anthocyanine
(d) Lycopene
List II

(@) Water soluble pigment in

carrot
(@) Lipid soluble pigment in tomato
() Lipid soluble pigment in
| annatto

(iv) Lipid soluble pigment in

pumpkin
Codes :
@ ® ©©
A G G @ G
® G G O G
© @ @G O G
M @ G G )
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(A) 0—5 ¢iu B
B) 0—2 ¢iu 8
(€) 0—1 g4 &
D) 1—2 ¢iu 8
A Ass ASL :

i 1
@ ¢lall+
®) olla-3id
() il
@ @il

el 11
() ouwul Wa.wellaien Lord-e
G ah2i W¥a Wollg Wi |
@) A2 ¢e Aellan YRz
(o) Wl 22 aellse Yordle
ds:

@ ® © @

(A @ @) @ @
B) @) G @ G
€ (v @D @ (i)
M @ @ @ G



The average body weight of Indian

infantis ........... and it triples by age

(A) 2.4—2.7 kg, 18 months

(B) 2.9—3.1 kg, 18 months

(C) 2.7—2.9 kg, 12 months

D) 2.4—2.7 kg, 12 months

The vitamin which is helpful in the
absorption of iron ...........

(A) Vitamin C

(B) Vitamin A

(C) Vitamin B,

(D) Vitamin D

The lipoprotein which transports
the lipid from liver to other tissues
of the body is ..............

(A) HDL

(B) VLDL

(C) IDL

(D) LDL
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(A) 2.4-2.7 .30, 18 s

(B) 2.9-3.1 [5.30, 18 WA

(©) 2.7-2.9 B3, 12 3

D) 2.4-2.7 3.3, 12 W
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10.

11.

Which of the following amino acids,

hiacin is synthesized in the body ?

(A) Tryptophan

(B) Lysine
(C) Aspartic acid

(D) Histidine

Which of the following is not true

for basal metabolic rate (BMR) ?

(A) It increases in hypothyroidism

(B) It is higher in male than the
female

(C) It decreases as the age increases

(D) It increases in fever

Nutrients require for haemoglobin/

RBC synthesis are ..............

(A) Zine, vitamin C, folic acid and
iron

(B) Copper, vitamin C, folic acid
and iron

(C) Iron, folic acid, vitamin C,
vitamin D .

(D)} Iron, calcium, vitamin C,

vitamin B
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12. The essential polysaccharide for 12, w3l IYRAALIAUNL AH o-dlqal WS

| preparation of good quality jam WALS qu‘_hi $87
18 rnsienns @) w2
(A) Starch
B) Wsdl
(B) Pectin '
(C) ¥
(C) Agar S
o Acydin
(D) Cellulose D) Ay
13, The following are the methods of 13- *UAAid ¥R unt g2t Wva 2
-nutritional _assesainent of children = - MUl A3l Fdl B :
using anthropometry ........... @ wd aw+t

() Body weight @) dldld esum

(ii) Blood pressure . . .
(i) slunti BUHL edtg M

(i’ii) Mid upper arm circun;ferences

| - (o) Qs
(iv) Height _
' (A) (&), (D) R ()
(A) (), (i) and (iv)

v o ] (B) (iid), (i) ¥ (iv)
(B) i), (&) and Giv) \

(€) Gv), (i) and () (©) (@), () 21 ()
) (i), Gi) and G) ) Gid), G ¥R G)
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14.

The aim of clear-liquid diet is ..........

(A) to provide sufficient amount of

calorie
(B) to maintain body weight of

patient

(C) to fulfill the vitamin

requirement

(D) to maintain liquid .and

16.

16.

electrolyte balance in body

The cut-oﬁ' fempemt_ure to define
fats and oils i8 ..........

(A) 15°C

®) 18°C

(© 20°C

M) 24°C

Maltose is a reducing sugar because

(C) Amino group free

- (D) Carboxyl g‘roup-free

meﬂuenne-l]
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17. The functional propert.ies of protein
which are useful in -cake
preparation, are ........... :

(A) Solubility, denaturation and
foaming

(B) Emulsifying, coagulation and
foaming |

(C) Thickening, flavour and
solubility |

(D) Foaming, flavour and .
thickening

18. The end product of anaerobic
glycolysis is :

(A) Lactic acid
B) Acetic acid
(C) Glucose
@)).. Pyruvate

19. Respiratory Quotient (RQ) is an
estimation of ........... ' '
(A) Oxygen (Op) consumption
(B) CO, consumption
(C) Ratio of CO, production and O,

consumption |
~ (D) Energy intake -to energy
‘ expenditui‘e |
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20. Paired ‘¢ test is used for :

21.

Home Science-11

(A) Comparing pre and post test of
" mean scores of a Sample

(B) Data is in frequencies

(C) Assessing the strength and

direction of relationship
between the variables
(D) Comparing means of more than

two groups

~ The isoelectric point of milk is :

(A) 6.6

(B) 5.6
(C) 5.2

D) 46

20.

21,

Two shawls stitched together are 99

called as :
(A) Do har
(B) Do shala
(C) Do buna

(D) Do rumal

10
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{C) 4.2 8
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23.

25.

W’ symbol on a care label
means :

(A) do not use chlorine bleach

(B) do not wash in hot water

- (C) do not dryclean

(D) do not wash

Which properties amongst the

following is required for a toweling

fabric :

(A) Hard wearing, resilient and
absorbent

(B) Strong, smooth and Islippery

(C) Soft, absorbent and washable

(D) Porous, soft and unabsorbent
A standard scale used to evaluate
colour fastness of a fabric :

(A) Colour scale

(B) Grey scale

(C) Colour measurement scale

(D) Grey measurement scale

Home Science-I1
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26. A spindle is also known as :

(A) Chakri

(B) Charkha

(C) Takli

(D) Takri

27. Which fibre is also known as China 97

grass ?
(A) Silk
(B) Linen.
(C) Jute
(D) Ramie
98. ‘Erf, is a type of :
(A) Silk
(B) Rayon
(C) Wool
() Polyester

Home Science-II
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29. Even and uneven are types of ............

30.

31.

weave.

(A) Plain

(B) Twill

(C) Pile

(D) Dobby

Sodium hydrosuiphite is used as a

............. in laundry.

(A) Blue

- (B) Bleach

(C) Optical brightner
(D) Soaping agent
Jersey is a type of :

(A) Weft knitting

~ (B) Warp knitting

(C) Braid

(D) Net

Home Science-I1
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32.

33.

34.

Name of ............ dye was deﬁved
from large wooden vessels which
were originally used to ferment the
dye paste.

(A) acid

(B) basic

(C) vat

(D) mordaﬁt
Bandhej/Bandhani is'a ........
(A} yarn resist

(B) fibre resist‘

(C) fabric resist

Gj) all of the above

An assembly system that uses a
single operator to stitch the entire
garment ié known as :

(A) single operator system

(B) modular system

(C) group garmeni; system

(D) whole garment system

Home Science-II
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34.
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35.

37.

Home Science-II -

An embroidery done ‘on old

fabric :

(A) Chamba

' (B) Chikankari

(C) Kantha

(D) Shiedar

Curved lines in a dress :

(A) increase the apparent size and
shape of figure |

(B) add length to a figure

(C) add width. to a thin figure

(D) none of the above

To eliminate dartsa il;‘ a fitted

garment 'one can use :

(A) Tucks

(B) Invertéd.' pleats |

(C) Princess cut

(D) Gathers

18
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38, ... sleeves are ideal for children ~ 38.

as they allow freedom of movement.

- (A) Kimono and raglan

. 39.

(B) Puff and bell
(C) Fitted and lantern
(D) Angle and bishop

Rapidly changing fashion stjles is

térmedas:

(A) Fast fa_shiqn

(B) Street fashion

-(C) Rapid fashion

(D) None of the above

Mass fashion is opposite of :

(A) Street fashion

(B) Volume fashion
(C) Low fashion

(D) High fashion

16
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41.

. O
42

An increase in disposable income

leads to :
(A) Decrease in clothing
expenditure
(B) No effect on clothing |
| expenditure |
(C) Increase in clothing expendi-

ture

None of the above

Baéic principle(s) of exﬁeriment.al

design is : |

(A) Randomization, replication and
local control |

(B Only randomization

(C) Data collection .t.inou'gh
questionnaire

(D) Opinion survey and description

Source of finance that do not poss

& burden on finance of the company

(A) Retained earning

(B) Public deposite

(C) Loan from financial institution
(D) Debenture

Home Science-IT
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44, Working eapital can be used for the

(A) ﬁachiﬁery
(B) Raw material
(c).._Go};dwiu o
(D) A]l of the above

. Stock exchange deals with oo
. .(A) Second hand WW

(B) Issues of preference share
© (C) Tnsmes of equity shares

(D). Issues of debentures

. The minimum number of members -46

‘required for registration of

- 18

. 5151 el Guaia Al qaxg -

wdui 53 ALY S :
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B) s wa
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- 47. The maximum number of partners

in a firm for general business

A) 7

(B) 10 .
" (O) 50
M) 20

. “Coordination” in an organisation

(1) Complete control on actiw_lities‘

of the employees .

(2) To secure liarmony among

different units of organisation

@ flémoval of t-:onﬂict' énd By

oveflappi.nﬁ in the ozganizét.ion
Codes :
(A) (1) and .(2)
'(B') (2) and (3)
(C) (1) and (3)

D) (1), (2) and (3)
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‘81,

(A) Changing basic values of

-society

~ (B) Changing norms of group
(O Changing reHgious pra'ct,ices

(D) Changmg habits of the

' mdwlduals

The state of Indla spendmg largest .

D) Ta.mil Nadu

One of the following is not t_]:ie
main
Management” :

) Production

- (B) Efficiency

(C) Mechanistic method

(D) Ratmnahty

HmBaenm-II

concern of “Scientific

50.

' amount on pnmary education - -

51

arufrs el dg D

N AL Yoy yedl v

B) gau Ril—-0axl seaal
(©) ubls Jaeud acadl

©) Al vied ssadl
o 1A e wuls Raau

el agy RIT L ﬁisi 8 :
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© 52. Suitable research method to study 52, " aizeiill subuRielL %iti‘tti-t_ e 4R

work pattern of an institution ' 'q_q[a@ :

: (A) WABE Adlan wel

(A) Experimental ‘study o _ |

o | | (B) 34 w8t wela

(B) Case study method :
s o5 vald

(C) Feedback study © & <R

(D) Survey method .' - o D) ‘ﬁ"ﬂ[l yela
53. The most popular approach for  53. ul‘mm'l-l ugiall anqy *ll.?ﬂ]. aile[l

accompllshmg results .......... - _ awmq M.R“lal“l '3 .

@ Managemen.t by_ex‘-‘epm“_ (A) “NsANYA gL BRAL
" (B) Record system L
- o . @) ‘38 wela
(C) Management by objectives - |
| | | " (©) &g g1l aaun (uwellil.)

(MBO) | _ |
D) 'Méﬁtor system D 'ma[aa'&qlt{l \ta[a

54, Knowledge, energy, skills and 54 W, 8fkd, ¥uasa %3 a4a A
attitude are examples of :  Guedm 3 A3 umqql-u
@ 'Manasemeht rosources | A) cnqum-t znu&-t- -
(B) Non-human reséum_es | (B)‘ _'Jl‘ll't@‘l_ '_%l%llf_l'l
(C) Human resources o II_(.C) ‘ildl‘l‘ '\;i.-'alﬁlzt_ .
(D) Material resources (D) RS Auart

HomeSmenee-II ' B | [P.T.O.l



58.

- Family attitudes and values are

o (A) Changing

(B) Fixed

(C) Rigid

(D) Traditional

- (A) too much of work for home-

87.

" (A) Peet and Thye

‘nm'ker

'~ 55.

‘Contracting stage of family life

(B) homemaker gets help from

children

{C) hmehopn'suemalmterest
(D) heavy demand on time

“Household Equipment” is the book

(B) Peet, Pickett and Thye
(©) MS. Acherya
(D) Anna Hong Rutt

CAgMs qaal A yel ¢

RV VICECTE RO

B N5 ¥ dud

(©) ¥s & B |

@) YN ¢l 8
Agells wanasui A-asdlan Bor @d
§ DAl s : |
A) seell w2 'dg wsdl ugfzil

B A qedfl Rl mee

67.
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58.

59,

Resources that can be replenished
through relatively natural cycles
and have potentia] .to last
indefinitely are called ...........

(A) Exhaustive resources

{B) Non-renewable resoumes

(C) Renewable resources

(D) Conventional resources

The conscious seekmgof tﬁe simplest,
easiest and quickest method of doing

(A) Work detailing
(B) Work simplification

(C) Work scheduling

(D) Work preparation
The techmque that can be used to

measure the amount of work done

where both the hands of the worker

(A) two way chart

(B) operation chart
(C) path way chart
@) flow chart

. Home Science-TT
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81.

62.

When compensation claim of a

oonsim;er is less than 20 lakhs, he

has to file the complaint in the .......

(A) District Forum.

| (B) National Commission |

(C) State Commission

(D) Municipal Coramission

The science of designing the work-

place fit to the worker is called .........

“(A) Ergonomics
| (B Architecture

(C) Design dynamics

D) Duignmachanics

. Standardization mark that denotes

" the purity of gold and silver is

- {A) Gold mark

(B) Hall mark

(C) Purity mark

‘(D) Silver mark

Home Science-11
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64. In a Piagetian model, ............. isa

concept or framework that organizes -

and interprets information.
(A) memory

(B) an image

(C) cognition

(D) a scheme

- An example of Erikson’s stage of

“identity Vs. identity confusion is :

(A) A toddler leaming to control B

 bodily functions
(B) a person taking a decision
about higher education
(©) a teenager spending more time
- with friends rather than with
family |
(D) an élderly man regrets being

an absent father

HomeSaence-II
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66 When Raju was 5 months old, he
waslookmgatatoytrmn andwhen _

" his view of the train was blocked,
he searched for it, reflecting the
- presence of :

(A) Object permanence

®) Self-differentiation

(C) Assimilation

(D) Schemata

. Vygoteky bglieved that cognitive

development was most influenced by

which of the following factors ?

(A) Biological |

(B) Social

© (C) Personality

. (A) families, birth to death
~ (B) human development, conception

to death
(C) peychology, infancy to death
(D) human development, birth to
 death |

- 67.
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69.

70.

All of the following statements

regarding development are true

excepl iy

(A) Development is explained by
age

(B) Development is discontinuous
and continuous

(C) Timing exerts an important
influence on development

(D) Development includes

behaviours that change in

form, but result from the same

process

According to Freud’s theory, the

desire to secure pleasure is in

constant battle with the demands to

behave according to what is right or

wrong: Using Freud’s terminology,
this would be stated as : |
(A) ego Vs. superego

(B) superego Vs. id |

(C) id Vs. ego

(D) id Vs. superego
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71.

T2.

Theory of learning, which totally

and only dépends on observable

behaviour is aséociated with theory
of learning :

(A) cognitivist

tB) developmental

(C) behaviourist

(M) constructivist

A sense of well-being is experienced
by an. individual as :

(A) A state of good health

(B) A feeling of being happy and

self-assured
(C) A sense of identity

D) An ability to succeed in all tasks

Home Science-11
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73.

74.

(C

All of the following are examples of

ageism except : |

(A) Not being hired for a new job

(B) When older couples holding
hands are labeled as “cute” and
“adorable”

(C) When older adults are asked to

serve as “grand parents” for

young parents

(D) Being eased out of their jobs

because they are pefceived as

feebleminded

Criticisms of Kohlberg’s theory of

moral development include all of

the following except :

(A) it places too much emphasié on
morﬁl thought, not enough on
moral behaviour |

(B) it is culturally biased

it considers family processes

essentially unimportant in

children’s moral deveiopment

(D) it places females at a higher

level of morality than males

Home Science-I1
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75. In India, it is important for the

1CDS

programme to run

successfully because :

(A)
(B)

©

1)

76. An

it caters to children of all ages
the government has _invested a
lot of funds in it

it allows mothers to go to work
it caters to the all round
development of young children

adolescent with a learning

disability :

- (A)

(B)

©)

)

Can study in the mainstream
class with academic support
from educators

Cannot study in the

mainstream class as he/she will

lag behind

Should attend a school for
students with learning
disability

Can study in the mainstream
class provided he/she does not

have behaviour problems
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77. Human development is based on . 77, g Ry Yews Bicidl w2 2l

78.

Home Science-II

certain principles. Which of the _

following is not a principle of human
development ? |
(A) Continuity

(B) Sequentiality

(C) General to specific

ﬂ)) Reversible |

Some adolescents become so
absorbed in their own uniqﬁe

thoﬁghts and ex;;eﬁences that they,

believe no one él_se has ever had

feelings and experiences quite like
theirs. Psychologists call this :
(A) imaginary audience

(B) interpersonal vanity

(C). personal fable

D) adoiemant egocentricism

.31
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79. In developmentally appropriate 79 [Asuasll dvu weld 3 Fui cuas

pi'actice. children are engaged %;l‘\& wi B

with : .

| | (A) Wwa-l, RARL 2R dist
(A) objects, ideas and people
- (B) Wl > disi
(B) objects and people

(C) objects and ideas (©) Wa-d =4 R

(D) ideas and people 41) QR 2 dist

80. ‘Rohan is going to the park to study  80. e+t eflai suasi-y AaRiag

the interactions of the children and 2B 529 20 D A Ssolin WA
h&w they get along together. He 58 A A HA B a;,; wEuYA 43 B,
plans to watch them., without g RlRam sag a@m daiia
mterfenng m their activities. This N9l ewadldl sal Ra 53 D
is an enmﬁe of : | &-j Gews@ B - |
A) a controﬂed expemnent (A) "2;!;5 Qﬂes Q.&%l‘lﬂﬂv&”

®) ‘ﬁaturalistic..obaervation _ (B). ”-Imtelhéls‘_aﬁotqszia-t' "
(C) a cross-sectional study | (€) ‘s ﬁzt'%.!xuvta_a "

(D) a case study D) “‘As Iy w8’
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81.

82.

Socialization is : o

(A) the formation of an attachment
bond between an infant and its
carer . .

(B) a tendency of social theorists to
explain everything in terms of
social causes _

(C) the process of becoming part of

| a society by learnmg its norms
and values

(D) the historical process by which
societies

change from

| traditional to modern

Culture and development are :

(A) inseparable

(B) opposites

(C) mutually exclusive

(D) all of the above

The concept of ‘storm and stress’I in
adolescence was given by :

(A) Erik Erikson

(B) Mary Ainsworth

(C) Jean Piaget

(D) G. Stanley Hall

. Home Science-II
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84. Arrange the stages of child

- development in correct sequence :
(1) Antenatal

(II)Infancy

(IV) Nwmﬁl'

(V) Toddlerhood

(A) an, I, @, avn, )

(B ab, M, av), @, W

©) M, an, av), (III),I ")

®) @, an, am, av, v)

. Studies show that folk traditions
are uniformly popular régar&less

of the following community

(A) Financial
(B) Social
(C) Education

(D) All of the above

84. cuafasiusll siquisidl Al 63

LUICIRE

@ Aa32a

(D ~ze

(III)[M AL

(IV) Ruiney

(V) dsal v

(A) an, I, @, @V,
® an, M, aw, am, v
(©) M, aD, av), (D, ¥
D) (I),. (ap, dIp, avn, v
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86.

87.

88.

Non-formal education should not

be :

(A) Democratic

(B) Abstract and theoretical
(C) Environmental friendly
(D) Teacher-centric

Receiver receives communication

. by :

(A) Reading

(B) Observing

_(C) Listening

(D) All of the above

Bulletin Boards provide opportunity
for developing :

(A) Knowledge

(B) Responsibility

(C) Creativeness

(D) All of the above

Home Science-I1
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89.

91.

In the rural sector the responsibility

of primary education lies with :

. (A) Gram Panchayath

(B) District Council

(C) Cooperative Societies

(D) Both (A) and (B) |

Extension education as a discipline
has its historical roots in :

(A) India

(B) USA

(C) UK

(D) Sri Lanka

Communication is a primary tool for
effective :

(A) Impact

(B) Speaking

(C) Reading

(D) Behaviour change

Home Science-II
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92. It is the receiver who receives the 92, 2y AN~ °8’1ll3._ Au A B

93.

message and tries to :

- (A) Understand

(B) Act

(C) Interpret

(D) Perceive

Students’ displays serve an

important function, such as :

(A) Making their classroom
interesting

(B) Keeping students busy

©
students

(D) Helping explain ideas

Involving a éommunity in the

research process to bring about a

social .change is called :

(A) Experimental research

(B) Participatory action research

(C) ICross cultural research

(D) Qualitative research

Home Science-11
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95. A good powerpoint presentation is

the one :
(A) That has maximum
information

(B) Focusses on video clips

~ (C) Combines visuals, audio and
| content to make an impact on
the learner

(D) Has latest reference

. To be effective, extension work :

(A) Should be well planned

(B) Should be need based |

(C) Should have government
support

I(D) Sl_mul& have enough fund

97. While communicating with the

people of different cultures one
should have : |

(A) ‘you’ attitude with empathy
(B) always know the local language
"~ (C) use many visual aids

(D) befriend local politician

Home Science-11
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education policy to be coordinated
with : |

(A) state policy -

(B) its human potential

(C) economic Iideology

(D) social systems

- It is important to keep in view the

learner’s orientation when
providing : |
(A) informal education

®) pre-school-education

(C) non-formal education |

(D) formal education

100. The degree to which an innovation

is percerved to fit into & person’s way
of doing things depends on :

(A) Ease in understanding it

(B) Its comfort factor

(C) Its adaptability |

(D) Its compatibility

98, It is important for the country's 96, il #8 dacll Pun uglh d
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